


Each of vou draw a multiplication grid like this:

Throw the dice four times each until all the cells are full.

Whoever has the product closest to 1000 wins. Each of you draw a multiplication grid like this:

Throw the dice five times each until all the cells are full.

Whoever has the product closest to 10000 wins.






John has these four digit cards. n n - n

He puts them into these calculations:
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Find all the products he can make between 500 and 1000.

y = 4x
Write a pair of numbers for x and y to make this equation true.
Now write a different pair of numbers for x and y to make the equation true.

Without using a calculator,

e isthe answer to 47 x 59, 3443, 2773 or 28877

* isthe answer to 456 x 0.48, 218.9, 636 or 322.7?
Explain your choice.

The product of two whole numbers is 24. Find all the possible pairs.
What if the numbers included decimals?

A teacher collects £56 for theatre tickets. Tickets cost £5 for the stalls and £7 for the
balcony. How many tickets has the teacher sold?






